Figure S1A

; GAPDH: Rsq = 0.994, Eff = 91.6%

\GPlOO: Rsq = 0.994, Eff = 90.9%
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GAPDH: Rsq = 0.982, Eff = 113.2%
TRP-2: Rsq = 0.984, Eff = 110.2%
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' Amplificatioh plot: GAPDH

! Amplificatioh plot: GP100

Amplification plot: TRP-2




Figure S1B

.| Amplification plot: GAPDH

- GAPDH: Rsq = 0.999, Eff =95.5%
GP100: Rsq =0.997, Eff =94.8%
- TRP-2:Rsq=0.999, Eff=98.1%
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Figure S1C

 GAPDH: Rsq = 0.997, Eff = 102.6%
 GP100: Rsq = 0.993, Eff = 98.8%
TRP-2: Rsq = 0.998, Eff =103.7%

Amplification plot: GP100

Amplification plot: GAPDH

~ Amplification plot: TRP-2




